3 000 long virtual knot 0000

0000 3000 long virtual knot 0 00 O O

ud oo
obooooobooooooobono

20230 120 250



00 long virtual knot 0000
L long virtual knot 0000
Llong virtual knot 000

Definition (long virtual knot)

0000 a: R—>R2 0O

() 20>000000 |z|>20 0000000 z0000 az) = (z,0) 0
oo

(i) «(R)DOO0O0O0DOO0, real crossing O virtual crossing0 0000000
oooood

000000 D= «(R) Olong virtual knot diagram (O O diagram) OO0 .
diagram 0 0 0 0 0O O generalized Reidemeister moves 1 0 000000000
000000000000 long virtual knotD 0 0.
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Defmltlon (EI oo)
long virtual knot K 0000, KOOOO ¢(K)OODODOOOO.
¢(K) =min{D O real crossing 00 |D: K O diagram}
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long virtual knot K O diagram DO OO0, 0000 real crossing0 0000
0000000 D¥, 00000000 DY, 0000000000 -DOOO.
00,300 diagram OO OO0 long virtual knot 0 0 00O O K#*, K* —K QO

D N [i#

S

D* -D
L8 R

long virtual knot K 00 00O
K= {K, K#,K*,K#*,—K,—K#,—K*,—K#*}

c(K)=c¢(K): KODOODO
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Theorem (Y. '23)
0000 3000 long virtual knot K 00000000000,
() c(R) =0 K =K1) (00).
(i) ¢(K)=1000 KOOOOOO.
(i) ¢ (K) =2« K = Ka(1), K2(2), K2(3).
ggobooooobooag.
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(iv) ¢(K) =3 K = Ks(1), ..., K3(33).
ooooo 3E|EIE|[I[I

oob200000.

{Kg( ), K3(29) } {K3 ), K3(30) },{K3(31),K3(33)}.

Ko(1) Ka(1) Kx2) K(3)
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K17) K1s) k(19 Ky(20)

Ks(21) Ks(22) Ks(23) Ks(24)
Kq(25) Kq(26) Kql27) Kq(28)
—>
Ks(29) Ks(30) Ks(31) Kq(32) Kq(33)
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00D 30 {K3(1),K3(29)} , {K3(5)7K3(30)} : {K3(31)7K3(33)} oooo
0oOoOooooooooo.

Ks(1) Kal29)

DB
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K3(30)
Ka(5) .
W @ 0o
K3(33) K;(31)
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oo0o0 A:
000 B :
ooo C:
000 D :
oooE:

K, K# K*, K*, —-K, -K#, - K*, - K#0000.

K=-K, K#¥=_-K#, K*=_-K* K* =_-K#[00O0O0O.

K=-K* K% =_-K#"
K = —K#**,

K*

=-K, K* =—K#[00D00.
K#=_-K* K*=-K% —-K=K#*[0O0O0O0O.

K=-K=K#*=_K# Ktf—=—_KFf=-—K'=—K*0OOO0OO.

Theorem (Y. '23)

Ko (k) 1 2 3

ooo D B C

Ks (k) 1 2 3 £ 5 6 7 8 9 10
0oo D A D A A A A D A D
11 12 13 14 15 16 17 18 19 20 21 22
D A/B E A AB D A AB A A A A
23 24 25 26 27 28 29 30 31 32 33
A A AB B A AB D A D A/B D
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m Gauss diagram 0 0 0 0O real crossing 0 30000 diagram O OO .
m 00000, writheOOO, closure, 300 0000000.

Olong virtual knot 0000000000

long virtual knot diagram O state SO, 00000 loop O 100 string 000
O000.loopA0D0O0O0OO 200000,4nd(A\)=:000.00 SO0
O0,ind(A)=:000 loop0000 ¢;(S)000. stringc D000, ind(o)
doooooooo.




Definition (long virtual knot 000 000)

D O long virtual knot K 00 diagram OO0 . D OO state SOOO0O, a(S),
bS)0OODOD ADDDO,BOOODOOOO, (D]|S)eZ[A*, z,yj0OO
oooo.

(D] S) = Aa(s)—b(s)(_Az _ A_z)co(s) ) H:C;:,;(S) .yind(a).
i>1

0000 KOOOOOO R(KYOOoOoooo.

R(K) = (-A*)"® 3" (D|S).
Ses(D)

Example
(D|8S)=A*>"1(-A% -

D
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Proposition

long virtual knot K 0000, 00000O0O.
(i) R(K*)(A,2,y) = R(K)(A™!,2,y).
(i) R(K*)(A,z,y) = R(K)(A™ ", 2, y7").
(iii) R(-K)(A,z,y) = R(K)(A, z,y).

Example

K=K;326)000,K=—-K, K¥ =K% K* =

—-K*, K** = —K#* O
oDooo00o0o.

-K4(26

_17A4+A8 A2) 71
( F)=1-A""+47° +(A —A‘Q)y‘l,
RK* ) =1-A""+ A%+ (4° - A%,
R(K#*)=1—A*+ A3 4 (A72 — A%)y.
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